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(B) Pl'im:ipft of proceeding from simple 1o complex

(C) Principle of proceeding from general 1o specific

(D) Principle of providing enough information to the
learmer

2. There are some concepts in Pedagogy:
(I) Objectives (1) Aims (111} Goals
There are some factors:
a. Student b, Teacher c. Nation
Find out the best matching pair from the following
pairs:

(A} (TII, a) and (11, &)

(C) (1, a) and (11, b)

(B} (11, a) and (I, ¢}
(D) (1, c) and (I, &)

3. According to Kohlberg, a teacher can inculcate
mioral values in the classroom by
(A) giving importance to religious leaching
(B) asking students to read psychology books
{C) introducing clear and strict rules for behaviour
modification
(D) “discussing moral issues

4. Which one of the following statements is NOT true

about the concept of the term ‘Pedugogy’? :
{A) Pedagogy is the ways and means of transaction of

curriculum
(B) Pedagogy is usually influenced by the dominan
culture

C Fﬂlguniinmrdludmﬂuuadsnfmufﬂldrtn
El:li Pedagogy is being exercised across the curriculum

5, The personality variable through which people

y feel about themselves is
{A) Self-confidence (B) Self-dependence
(C) Self-esteem (D) Introveriedness

6. According to Kohlberg, in which stage of moral
development does an Individual work to please his/her
family members and neighbours?

(A) Punishment cbedience stage
(B) Personal reward stage

(C) Good boy/Nice girl stage
(D) Law end order stage
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7. Falling down on a Moor, o child started to hit the
floor sut of anger. What type of thinking is rellected here
according to the theory of Pinget?

{A) Reflective thinking
(B) Logical thinking

(C} Analytical thinking
(D) Ammistic thinking

8. Which one of the following principles is NOT
relevant to Child Development?

{A) Sequentinlity (B) Continuity
(C) Reversibility (D) Generality to specificity

‘9. The memory responsible Tor remembering *how o
do things®, is called
{A) Procedural memony
(B) Semantic memory
(C) Episodic memaory
(D) Autobiographical memaory

10. According to Piaget’s view, the child learns that
‘water can be frozen and then thawed to become liquid
again' is an example of

{A) Seriation ability

(B) Classification ability

(C) Reversible thinking

(D) Hypathetico-deductive thinking

. 11. Learning-Teaching becomes more effective, when
(A) Teacher asks questions and students answer
{B) Teacher writes on the blackboard and students
make & copy
{C} Teacher encourages studenis to ask questions and
helps them to answer
(D} Teacher assigns a lot of homewark

12. To address the needs of differenily abled learners
in inclusive class, which one of the following step shouald
teachers adopi?

(A) Approach focussing on learners’ deficit

(B} Approach focussing only on the specific leaming
disabality

(C) Approach of neutrality to trest all the children in
similar manner

(D) Approach focussing on learners' strength

13, Which one of the Followings is the correct sequence
of steps for insightful learning?
(A) preparaticn, incubation, insight, verification
{B) preparation, incubotion, verification, insight
{C) preparation. insight, incubation, verification
{D) preparation, verification, incubation, insight
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14. When old memories inhibit new learning, then this
phenomenon is called
(A} Proactive inhibition
(B) Retroactive inhibition
{C) Imternetive inhibition
(D) Postactive inhibitkon

15, A teacher nsks o student to mention different non-
conventional nses of ten-cups. This teaching lends to
develop smong the students

(A} Convergent thinking
(B) Creativity

{C) Language ability
(D} Concrete thinking

16. The cephalocaudal principle of child development
refers to the development which proceeds from
(A} head 1o oe
(B) general o specific
{C) centre of an organism 1o the periphery of its body
(D) concrete to abstract

17. In which step of 5°E" model, students canduct
activities, predict and form hypothesis?
(A} Engagement
(B) Elaboration
{C) Explanation
(¥ Exploration

18. Which of the following is NOT a relevant reason
for assessing learners before presenting a lesson?

{A) To assess the readiness of leamers for a lesson

(B) To make the leaners aware before presenting a
lesson

{C) To facilitse teachers to practice core teaching
skills

{D) To form different learning groups among
the learners while adopting collaborative

teaching-learning

19. Child’s ‘inability to understand a situation from
another person’s point of view” is called
{A) Objeci permanence  (B) Centration
(C) Egoceniric thinking (D) Transductive thinking

20, A teacher tells the students “Try to do the task; you
will learn™. Here the teacher tries lo
(A) motivate extrinsically
(B) motivate intringically
(C) encourage for achievement mativation
(D) demotivate
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21. The first step of 21, =ffw e el =

{A) Retention (A) wrad ;
(B) Recall . () s
(€) Recogrition (C) =fem
(D) Learning. (D) Fem

22. In the classroom of a primary school, students
usually come from different socinl backgrounds in terms
of culture, religion, economic status and casie system.
What should be the best combination of teacher's tnsk (o
make the classranm inclusive from these given options?

(i) To reflect on hisher own siercotypes and beliefs
{ii} To include and emphasize diversity of children's
experience

(iii) To create institutional ethos towards equality

{iv) To instruct children o accommodate the existing

standard curriculum
(A (1), (uid, (i)
(€ (i) {iid), (iv)

(B) i), i), (iv)
(D) (i), fiii)

23. A social science teacher may make linkage
geographical concept while teaching history. This kind of
pedagogical strategy

(A) would promote misconception among the leamners

(B) would negatively impact learning as it would
impose additional burden

(C) would facilitate learning by promoting
interdisciplinary approach

(D) would neither impact to promote nor 1o create i
hindronce in leaming

24, While teacher explores learners’ indirect and
general experience in concept formation in
learning-teaching process, then which one of the followings
will be most acceptable?

(A} Exposure — Perception — Abstraction —
Generalization .

(B) Exposure — Generalization — Abstraction —
Perception

(C) Exposure — Abstraction — Generalization —»
Perception

(D) Exposure — Abstraction — Perception —
Generalization
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(D) “ifEfEfEw! (Exposure) — Fréasm (Abstraction) —
sere| (Perception) — Fiufdend (Generalization)
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25, According to Gardner’s theory of Multiple
Intelligence, “the capacity to detect and respond
nppropristely to the moods, metivations nnd desires of
others’ refers to

{A) linguistic intellipence

(B) logical-mathematical intelligence
{(C) interpersonal intelligence

(D) intrapersonal imelligence

26, A fest is administered twice in a definite interval on
a group of school students under identical environmental
conditions. The mean scores of the students remain very
clase. Il is therefore, said, the test has

(A validity

(B} reliability

{C) objectivity

(D) moderate difficulty value

27. There are two tasks in edocation:

{1} Personality development (11} Habit formation
There are two stapes of cducation:
(n) Primary (b) Secondary
The besi comblnation of the task in education and

stage of education might be
(A (1, &) (11, a)
(C) (1, a): (I, b}

28. The level of teaching in which the learner can
identify the problem, define it and try to solve it by using
eritical and ereative abilities, s

{A) memory level of teaching

{B) understanding level of teaching
(C) reflective level of teaching

{D)} pre-active level of 12aching

(BY (I b); {11, 1)
(D) (L b); (11, a)

29. If & child has » mental age of 5 years and
chronological age of 4 years, then 10 of the child will be
(A) 100 (B) 75
(C) BD (D) 125

30. Which of the following strategy Is NOT
pedagogically appropriate for learning In the
Constructivist approach?

{A) Encouraging learners towards multiple

perspectives of objective reality

(B} Group collaboration

(Ch Drill and recall

(D) Exploration through experimentation

Bengali Version
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PART—C
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Read the following passage carefully and answer
Nos. 61-68, _

The victory of the small Greek democracy of Athens over
the mighty Persian empire in 490 BC is one of the most famous
events in history. Darius, King of the Persian Empire, was
furious because Athens had interceded for the other Greek city
gtates in revolt against the Persian domination. In anger the
King sent an enormous army to defeat Athens. He thought it
would take drastic steps to pacify the rebellious part of the
empire. Persia was ruled by one man. In Athens, however, all
citizens helped to rule. Ennobled by this participation,
Athenians were prepared to die for their city state. Perhaps
this was the secret of the remarkable viciory at Marathon, which
freed them from Persian rule. On their way to Marathon, the
Persians tried to fool some Greek city states by claiming to
have come in peace. The frightened citizens of Delos refused
to believe this. Not wanting to abet the conquest of Greece,
they fled from their city and did not return until the Persians
had left.

61. The people of Delos did not want to the
conguest of Greece.
{A) end (B} think about
() support (D) day dream about

62, Statement (i) — Persia was autocratic
Statement (if) — Athens was democratic
Choose the right option:

(A) Statement (1) 15 false, and Stwtement (ii) is tue
(B} Statements (1) and () both are troe

(C)y Statement (i) is true and Statement (ii) is false
(D} Both Statements (1) and (i) are false

63. Darius took drastic steps to the
rebellious part of the empire.

(A) weaken (B) conguer

(C) destroy (D) calm

B4, Athens had the other Greek city states

against the Persians.
{A) refused o help (B} ‘d{ll-l‘lll#:i 1o fight
(C) intervened on behalf of (D) given orders to fight

65. The word “abet’ as used in the passage means—
(A) fight (B) follow
(C) assist (D) share

66. Which of the following options come closest to the
meaning of the word *Ennobled’ as used in the passage is—

[A) worried (B) frightened

(C) panicked (D) encouraged

7. The people of Delos ran away hecause they were
(A) bold (B) wise

(T} impatient (D) annoyed

68, “Persig was ruled by one man." The underlined word
in the sentence is an example of ;
(A) MNoun (B} Adjective
(T} Pronoun (D) Adverb

Read the following passage carefully and answer
Question Nos, 69-75,

It was a cold, wet and windy March evening when Prem
came back from the village with his wife and first-born child,
then just four months old. In those days, they had to walk to
the house from the bus stand; it was a half-hour walk in the
cold rain, and the baby was all wrapped up when they entered
the front room. Finally, 1 got o glimpse of him. And he of me,
and it was a friendship at first sight. Little Rakesh (as he was
to be called) gral.bed me by my nose and held on. He did not
have much of a nose to grab, but he had a dimpled chin and I
played with it until he smiled.

The little chap spent a good deal of his time with me during
those first iwo years in Maplewood—learning to crawl, to
toddle, and then 1o walk unsteadily about the little sitting room.
I would carry him into the garden, and later, up the steep gravel
path to the main road. Rakesh enjoyed these little excursions,
and so did 1, because in pointing out trees, flowers, birds,
butterflies, bestles, prasshoppers, etal, [ was giving myselfa
chance to observe them better instead of just taking them for
granted.

In particular, there was a pair of squirrels that lived in the
bigoak tree outside the cottage. Squirnels are rare in Mussoorie
though cormmon down the valley. This couple must have come
up for the summer. They became quite friendly, and although
they never got around to taking food from our hands, they
were soon entering the house quite freely. The sitting room
window opened directly onto the cak tree whose various
denizens—ranging from tag-beetles to small birds and even
an pcrobatic bal—took (o darting in and out of the cottage at
varipus times of the day and night.

69. “I would carry him into the garden, and later, up
the steep gravel path to the main road.” This sentence is
an example of

(A) Simple past tense

(B) Past perfect tense

{C) Past continuous tense

(D) Past perfect continuous lense

I:h"gl'l]. ‘Finally, I got a glimpse of him." This is an example
an

{A) assertive sentence
(C) imperative sentence

(B) interrogative sentence
(D) exclamatory sentence

71. The synonym of ‘denizen’ is

(A} army (B) students
(C) occupanis (D) animals
71. “Et al® means :

(A) also (B) either
(C) b (D) and others

73. In his excursion little Rakesh was accompanied by
{A) the narrator {B) Prem

(C) his brother (D) his friends
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Language-II—English

74. The animal which is rare in the place mentioned in
the passage is
{A) tiger {B) bm
(C) squimrel (D) tag-bectle
75. Little Rakesh was when he saw the
narrator for the first time in his lfe.

{B) four months old

Id
{A) two years o (D) s baby ol vaeryear

(C) four years old

76. Which one of the given alternatives is not true about
Isngunge acquisition?
{A) A child uses the language carrectly without being
conscious about the grammar rules. .
(B) Langunge development takes place in o natural seming,
(C) Affective factors like anxiety. self-confidence, elc.
are nof invalved in the process,
(D) Instruction from experts is required.

=% Which of the following is noi true for second
langunge learning and acquisition in direct method?
{A) Socio-cultural differences constitute the principle
factor in both.
(B) We do not use translation method for bath.
{C) We use mother tongue for both.
(D) Socio-linguistic factor is essential for both,

+ 78. Which of the following is the principle of teaching
in a second language classroom?

{A) Leamers should be taught only the aspecis relevant
for communication.

(B) Learmers should be taught every grammatical aspect
thoroughly.

{C) Learners should be taught the an of scaffolding.

(D) Leamners should be taught only ranslation.

79. Basic skills for language learning comprises ol
{A) speaking, remembering, listening, spelling
(B} listening, speaking. reading, writing
(C) spenking, framing, writing, analysing
(D) speaking, thinking, reading, writing

80. Immediate correction of errors is encouraged in
(A} communicative approach
(B} translation method
(C) community based language leaming
(D) project based method

81. For teaching a grammar item o teacher begins with
examples, and then with the help of examples, she/he
clarifies the rules. After that she/he asks the students to
provide more examples and provide clarifications. The
teacher here is thus using the :

(A) Deduvctive method

(B) Inductive method

(C) Inductive-Deductive method
(D) Drrect method

§2. Sitting arrangement in a diverse second language
elassroom should be
(A} fixed
(C) fixed but planned

(B) flexible but planned
(D) fexible but unplanned

83. Listening comprehension is a/an
{A) passive skill (B) active skill
(C) productive skill (D) reasoning skill

84. Which of the following activity is most appropriate
in developing language skills?
{A) Watching films
(B) Reading storybooks .
(C) Participoting in culiural functions
{D) Preparing school magazines

85, Which of the following TLM is most essential for
an English teacher to carry to the classroom?
(A) Dictionary
(B) Chart
(C) Textbook
{0} Model

86. What should be emphasised In assessing second
language proficiency?
(A) Correot gromimar
(B) Correct spelling
(C) Ability 1o use second language in different contexts
(D) Correct writing

87. According to NCF (National Curriculum
Fromework) 2005, multilingualism in a language .
classroom should be seen as

(A} achallenge o second language eaching,
(B) a hindrance to second language acquisition.
(C) ashortcoming in second language teaching.
(D) aresource in teaching second langunge.

88, The purpose of remedial teaching is to
{A) introduce new language items
(B} test recently taught language items
(C) teach again the language items not properly leamt
(D) teach again the language items already learnt

89, The meaning of a word in a passage depends only on
(A} its dictionary explanation
(B) its context
{C) its origin
(D) its spelling

90. Which of the following is not a principle for second
language teaching?

(A) Prompt feedback

(B) Continuous nssessment

{C) Memaorisation of the rules of grammar
(D} Use of different contexts
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PART—D
Mathematics

English Version

91. The sixty second decimal place in the decimal
representation of 2% will have the digit

(A) 7 B) 4
(C) 2 (D) 5

92, (01 = 0°01) x 0-11 % (001 + 0-0001) =
(A) 0-00009999 (B) 0909099
{C) 0-10101111 (D) O-0000009%

93. What is the difference between the place values of
two T's In 17152717

(A) 699930 (B) 996930
(o (D) 30699
“' i L] il.lI
L l 1L L] '.\LI -
L, 3 6, 1% ... are triangular
pumbers. The tenth triangular number is
(A) 42 {B) 30
(C) 35 (D) 100
1 1
95. Izunn(ﬁ + lm} "
(A) 4214-1222 (B) 1224:2412
{C) 12121212 Dy 2121-2121
%6, Which of the following statements is incorrect for a
clrcle? ,
{A) “The chords, equidistant from the centre, are of
equal lengths.”
{B) *The equal chords of a circle are equidistant from
the centre.’

(C) “The straight line segment joining the mid-points
of two parallel chords of & circle always pass
through the centre.’ L

(D) *The straight line joining the mid-points of two
parallel chords of a circle must pass through its
centre.”

97. To share the knowledge of corresponding angles we
need to consider

{A) a pair of parallel straight lines only

{B) a puir of parallel straight lines and a common
transversal :

(C) a pair of coplanar straight lines (may not be
parallel) and a common transversal

(D) a pair of intersecting straight lines

98, Which of the following does not represent the
of the sides of a triangle?
(A) Sem,6em, Tem  (B) 2em 3cm, 6om
(C) 2em,3em, Tem (D) Jem, 4 cm, 3 cm

Bengali Version

o1, %ﬂﬂﬁnﬂﬁmﬁﬂnﬂﬁrﬂﬂmm
(A) 7 (B) 4
(©) 2 @) 5

92. (01— 0-01) x 0-11 x (0-01 + 0-0001) =
(A) 0-00009999 (B) 0-900099
(C) 010101111 (D) 0-00000099

93, 1715271~ 7 w68 A R W T

{A) 699930 (B) 996930
{C) 0 (D) 30699
94, . -I.l
A R §
L - X 6, 140, ... ¥ Tage =m | wrEm
wm fage wl @
(A) 42 (B} 50
(C) 55 (D) 100
1 1
gs, 111:11«(m + lm)ﬂ
(A) 4214-1222 (B) 1224-2412
(C) 12121212 (D) 2121-2121

96, 0T T Awen o= TRl T

(A) ‘CVE CUTT FERACY SIS W W-sW U W
=

(B) =TelAdR wae ) g O (T FuEy Wi

(C) I wiarmrm e S-oT Fafary A
weary qowe e o

(D) % =i Faream w-a3 sf e FEnE
A e e Em

97, EEEe! (T MR W e e eomem
(A) TR SETETH AR FUEAE TR
(B) SRTEIE o= ARMWEH FAAAL] 470 QT A
i
(C) aumerg Amoeiie sETEY (¥ SR T
TR ) 1 LD TR
(D) STTETE erreraret s
';; forwe el con Firgrem g fimdia Tnd e e
e

(A) 5em,6em, Tem  (B) 2em, 5cm, Gem
(€Y 2em,3em, Tem (D) 3cm, 4em, Scm
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Mathematics

English Version

99. Which of the following concepiunl statements should

come first at the time of teaching Mathematics?
{A) ‘Zero® is to be taught with the first st of numbers.

{B) *Zero' is to be taught after muking learners

acquainited with digits from 1 1o 9.

() sz is to be tought afer making learncrs 1o
acquire the sense of natural numbers and binary
operation "sabieaction’. | :

(D) "Zera' is to be tought while teaching the place
values of digits in a number.

100, The proper sequence of the names of the three angles
2207, 1807, 75" is

(A} acute angle, right angle. obtuse angle

(B) right angle, acute angle. straight angle

(C) reflex angle, obtuse angle, acute angle

(D) reflex angle, straight angle, acute angle

101. Which of the following symbols is unique for
mathematical langueage?

(A) 7 (B) @

(C) % (D) &

10, The digit, whose place value in & number, does not
depend on the place is

(A) 7 (B) 9

(C) 0 (1

103. In order to motivate a learner to learn geometry,
which one of the following is not required?

{A) Problems arising from life

{B) Folding of papers

{C) Mathematical game

(D} Complex problems on geometry

104, Given siaiments are— ,
(i} two angles are complement of one another if their
sum is 0%,
(ii) Complement of an angle of measure 70° is an angle
of measure 20°,
(iii) Complement of an angle of measure 20° is an angle
[‘m T,
{iv) Complement of an angle of measure 90° is an angle
of measure 0°,
In order to share the concept of complementary
angles, a teacher should prefer the order
(A} (i), (), (idi), (iv) (B) (i), (i), (iv), (1)
(C) (idi), (av), (0), (iR} (D) C(iv), (i), (i), (iid)

105. Ram loses a 100 m race to Faruk by 10 m. Distance
that can be covered by Faruk when Ram covers a distance
of 89 m is
(A 10m
(C) 11m

(B) ¥1lm
M) 12m

Bengali Version

99. WS s sram fFvers wraetrs fegfeofm o ez
e wiH e
(A) " sers e (oNBE wOw cnnE )
(B) | cors 9 of wwofh wmem 28 -2 o
HTHIE |
(C) Pl wrefrs A oo ofmen o wfes i
"’ cerira e e o wifafen s |
(D) wwafEm Fm T coire sam m'-n o e
AT |

100. 2207, 180°, 75 efwa oo fewitn wop Frdm wmofem 2
Ll

(A) R, 0, Y=

(B) T, A, TR

(C) SR, Y, T

(D) ETSRTAM, FEAACHL, WO

101, Frafeferofm wa o el dficee s w3

(REOTITY TarE] ¢
(A) 2 (B) @
(C) % (D) &

102, FEgr WA o C1 WOER EAN WR U R S
e T o1 T | |
(A} 7 (B) 9
(€ 0 (D) 1

103, wfafE Fam P s e wres Frefifie orlia
HOmE= (g

(A) & o e Tem

(B) =ivigern wle

() =i o

(D) wnifaf® RuEry ofie s

104, ervre et w—
(i) 5% coet strory of wm o wice il 90° &)
(i) 70° wifratesm comem s camem sifimet T 207
(iii) 20° wf=mem consm e camam st w700
(iv) 90° *firs o me o ofimst =07
“EF L R (RO WOTn ome e i
Borem Ffefm fafifie m ol o o1 3her
CAY (i, (i), (iid), (iv) {BY (i), (i), (iv), (1)
(€Y Giid, Giv), (@), (i (DY (iv), (i), (ii), Gid)

105, 100 m (g effraifirem am, W =1 10 m-a (60
T U4 99 m WH W SR O STy Y O
(A) 10m (B) ®1lm
© 1m ©) 12m
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PART—D
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nglish Version Bengali Version
106. ﬁﬂiﬁ;;ntnrlhfmlmﬂn[hmtlthmmmﬁcﬂ 106. Frefafreafin amg e sfires i e
mathem:a TS SHTE Frgern
(A} Uncertainty in resyly (B) Comectness - el o Frerare)
(C) Onginality (D) Truthfulness > {m

107. lr:\iﬂthermnts to share the concept of the formula
‘o + B) = a' + 2ab 4 b*, which fquestion among the
following should be raised 14 evaluate the previous
knowledge required for the content?

A 1¥=189T) @y (5.2

; V(3 = Eam
(C) 67 =649(TF) (D) Sx5=5 (/P
[T means “True' /=", F means ‘False'"Rien”

108. Ram can finish a piece of work in 6 days doing
10 haurs of work in cach day, Actually, after working
Jdays (10 hours a day) he staris warking 6 hours a day o
finish the rest portion of the job. Then the intal time Ram
would require to finish the job s

(A) 10 days {B) 8 days

(C) 12 days (D) 15 days
109. Sum of all the factors of 100 is

(A) 216 (B) 117

(C) 223 (217

110. 35574 is divided by n to get & perfect square number,
The least value of n is
(A 2
() 6

111. NCF 2005, recommends that teaching of
mathematics at Primary Level should focus on
(A} Preparation for higher mathematics
(B) Helping students in correlating the classroom and
in learning with daily life ]
(C) Helping students to achicve international standard
of learning in mathematics
(D) Abstract concepts of mathematics

112, Which one of the following is not an essential
characteristic of formative evaluation of mathematics?

(A) Judgement on content knowledge of mathematics
(B} Elemination of fear of mathematics

(C) Self-evaluation of leamers

(D} Time consuming

(B) 3
(D) 12

113, “Mathematics is the mirror of civilization.”— Whao
said this?
(A) Heghen
(C) Whitehead

(B) Bacon
() Berthelot

107. = awem e Pl o + 5 = o' + Zab + bl
wtet) Fferer s oem Fve et ot wrare erare femdts
R TI51E-0T T A

wE=iam  ® (3)=2am
(C) 67° =649 (T/F) D) §x5=5 (T/IP
[T-% @ “True'r7e"; F-3 = “False'/Reqr)

108. effEf= 10 = =r7 vors 7m0 <= =96 Foa om
A0S A0 | e 10 w8 wem 3 fm wre = e o ol Rl
erfefim 6 w1 = = o wns e sl e o
e

(A) 10F= (B) Bf=
C) 125 (D) 158
109. 100-27 o= Tesiwaalin mlfd o
(&) 216 By 117
(C) 223 -[DJ 217

110, sjfas Aean eowm R0 35574-05 0 W i w0
n-E7 FHGTH W

(M 2 (B) 3

C) 6 D) 12

111. NCF 2005, frt e eiefies g o frem
o T
(A) Bururry wFreems T-mm a oo
(B) ceaftwrs i @ aprafivs Fanm s e g
) =
(C) Frelim e Frem erawifer o S o
(D) e B e wrs =

112, Fufafe = dicen offs soem (formative

evaluation) e t=firg; -my
(A) ofdrEs Fuss @ B
(B) *fredify ghead
(C) Frs® -
(D) AL

113, “sférs w1 werem w1 — oft 30 tfee
{A) Heghen B} Bacon
(C) Whitchead (D) Berthelot
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; = (666 % 123 + 1) = (66 x 456 + 2) + 1 and

jl!l:[.!.!u:;‘mj:]u{mﬂah- 1} + 1 then

{A) only A is prime

{B) only B is prime

(C) both A and B are prime

(D) ponae 15 prume
115. ‘Draw a geometrical figure."— the level of the

ks

(A) Knowledge based

(B} Understanding based

{C) Application bascd

(D) Skill based

116, To evaluate the length of the path described by 2
circular wheel by a complete rotation, we need to evaluate
(A) the area of the wheel
{B) the circumference of the wheel
{C) the measure of the circumference of the wheel
(D) The lengih of any chord

117. If the sum of all the proper divisors of o natural
number be equal to the number itself, then the nomber is
said to be perfect.

For example, proper factors of 6 are 1, 2 and 3. Here,
142+ 3=6 .. 6 perfect nomber,

Therefore, for 42 and 28, we con say

(&) Both sre perfect (B} Mone is perfect
(C) 42 is perfect bul (D) 28 is perfect but 42
28 15 nal is not

118. In order to teach the concept of *‘addition of
Tractions’, which one of the following questions a teacher
ﬂmululd prefer first as an example?

1 1 4 3
(A) 3E+T=T l;]E|]|.?+—~5 =1
e .3 Lo
{}T+2_? {D:|5+5 '

119. Letp be o prime number, Given statements are
(i} p has exactly two distinct factors.
iy p=1
(i} p muost be odd.
(iv) p-220
Which one of the following is the set of true
statemenis?
(A) (i) (i), (iv) (B) i), (i)
(C} (iv), (i) (D) (i), (1)
120, The digit in the unit's place in the product of
first 100 prime numbers is
(A} 1 (B) 3
(Cy 5 () 0

Bengali Version

114. W31 %, A = (666 x 123 + 1) x (66 x 456 + 2) + 1
ot B o= (33 = 578 + 2) = (333 x T34 + 1) + 1 wiwm,

(A) oy A diffe

(B) sywa B @i

(C) A @ B Tent ditfire

(1) comanfbe cinférs sm

115. "ouf® smfEfee o o= vt ' — efir o o
(&) SIS
(B) CwETe
(C) HomshEes
(D) T

116. =% Tow=m vam o off vim wften wae g
oo ==y wraror Ty oo =

(A) SIS (R

(B) ERE =i

(C) s sffEm o

(D) €8 N WN-a7 D7)

117, i awfl raiis s s v Besymr e
farets =, v meaifbes Frde we
orse, 6w mend Bestrwafd 1, 2 4%t 3 OWIE,

L, 42 @ 28~ T AL *1A

(A) Bf6E Fedw s () cvag e
(C) 2frle g2 (D) 28 Fm g dzmm

118, ‘wimem cnsr’ et ot s )
Frafefe emofim oo Wl wgem Sutged it g

T
1 1 4 3
{&]31+1=1 (B) —5+—5=-1-
2.3 1 2
() 3+2=? (D) _54__5.._?

119, w@l ums, p ol cltfers smem | eva Fefeofl o
(i) p-o= v Wil wpuw Bess W

(i) pe1l

(i) p = = e

(vl p=-220
o e fie fimfom ol e
(A) (i), i), (iv) (B (i), (i)
(C) fivd, (i) (D) (i), (i)

120. s 1007 cRfors oo oveem o e e T
(A) 1 (B} 3
iC) 5 Dy 0
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121. River Damodar flows through which h I
el Bt : ugh w of the lzl.m:lﬁmm#ﬂﬁmﬂwﬁnmﬂ
(A) Hooghly, Jhargram, Birbhum, Howrah, Purulia (A) ueiiy, Az, Treew, paw, Fm

(B) Purba  Medinipur, Murshidabad, Purba
Bardhaman, Coochbehar, Heoghly

(C) Coochbehar, Howrah, Kalimpong, Paschim
Bardhaman, Purulia

(D} Purilia, Paschim Bardhaman, Purba Bardhaman,
Hooghly. Howrah

122. The three R’s to save the environment are—
(A} Reserve, Reduce, Recycle
(B) Reuse, Reserve, Reduce
(C) Reduce, Recycle, Reuse
(D) Reserve, Reuse, Reduce

123. What should be the minimum thickness of plastic
carry-bags since 1st January, 2023 as per Plastic Waste
Management (Amendment) Rules, 20217

(A) 75 microns (micrometers, um)

(B) 120 microns (micrometers, um)

{C) 50 microns {micrometers, pm)

(D) 20 microns (micrometers, yim)

* 124. Which of the following pair is not correct?

{A) Architect — Sun Tempie of Konark
{B) Architect — Rashmancha of Bishnupur
{C) Architect — Temples of Khajuraho
(D) Architect — Ajanta Cave

125, Which one of the following animal species is not an
example of endemic species?

(A) Asiatic Lion, Gujrat

(B) Lion-tailed Macaque, Western Ghats

(C) Muga Silkworm, Assam

(D) Leopard, Maharashira

126, Which of the following are horticultural resources?
(A) Paddy and Jute
(B) Mango and Litchi
(C) Tea and Coffec
(D) Wheat and Muize

(D) e, isn 2=, o 2, Wi, Hew

122, ou fisfl ‘R’ ofirers v am, @ —
(A) FEe (Reserve), 37 (Reduce), %REIT (Recycle)
(B) < (Reuse), % (Reserve), 371 (Reduce)
(C) ™ (Reduce), sRE50M (Recycle), $7475 (Reuse)
(D) v (Reserve), wdae (Reuse), ¥ (Reduce)

123, it T arrmeen (o Fam, 2021 s
2023 wieem 1= whquiE oo wfee w0 o wfaw o

TE FACE TAT
(A) 75 wits (RS, um)
(B) 120 Wiz (fEIRhE, um)
(C) 50 witz= (MRS, um)
(D) 20wz (aEvefiBE, um)

124. Sisa oA oarefe A= e
(A) Hrere] — cewrares o i
(B) g — Frsejrm T
(C) FefE] — AreEaE-a7 uHa
(B) HerE — oy o

125, frafirfireofin cofe arsfie emfia ey Sareed e
(A) el fr, et
(B) #n-GEes wee, sfvaab
(C) M CEPrarsrel, SToTsy
(D) Foorm, e

126. FrefERwofm cmof Swm 7wy
(A) ¥H e w0

(B) =m a g
() o1 =i

(D) "= a g
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English Version
127. Which of the following statement E:‘:ﬁrrﬂt :::; IIT'I‘H‘:&‘I"!:'E\'E mmmw
" fEVS at primary it
regarding the curricalum o . : 5 . .
(A} I the primary classes, 1opics af physical and social (A} mmﬁumgﬁmm . e AT il

epvironment should not be included.

(B) Experiment hased teaching in class should not be
included. _ —

() Children should not be involved in ﬂﬂlﬂu‘:ﬂ[‘]ﬁ
which increase their creative and cogzmitive
capacitcs. .

(D) Al the primary level, EVS :h:ml:l_lunlud-: the
topics of gender and gender-sensitivity.

128. The main disadvantage of observation based study
in Environmental Studies is—
(A) It crestes a bonding between the teacher and the
leamer
(B} Ithelps o increase the observational ability of the
students
{C) It is not possible to teach all the chapiers of the
subject
(D} Students get the scope for thinking independently
129. A list of rivers arc given below. Which rivers among
them play an important role in the formation of soil of
the Terai region of West Bengal?
Damodar, Maile, Teestn, Ichamati, Mahananda,
Spbarnarekha, Ajay, Roimangal
{A) Matla, Subzrmarekha
(B) Damodar, lchamati
(C} Teestn, Mahananda
(D} Ajay, Raimangal

130. Which of the following is not o source of lead?
(A) Paimt
(B) Distilled water
() Cosmetics
(D} Childrern's tovs

131, Which one of the followings is associated with

‘Blackfont discase"?
(A) Mercury
(C) Codmium

(B) Arsenic
i Selenium and Iron

131. The process by which earthworm decomposes
blodegradable solid wasie ks called—

(A} Composting

(B} Landfilling

{C) Shredding

(D) Vermi-composting

(B) ey «fpe-fafs e wm v 0

(C) Franh au= Frfeems wegs ¥ SEw w1 W
Hewdin gax W W 3% o

(@) =, EVS From fm aw feoncmemen
e} wyge = Bhie

128, sfEraeiaa wid e i ave i i
'H_—
(A) & s Fws Frdiom woo wwmd ToR
(B) <% wwfels Frmive wfraed e 7 =
(C) <% wfefrs fraom =2 wgwefia e s
(D &% v Fvm i i farerm o .

129, Srrs s T8 ST GRAW] T | ST TN (AR SRR
s TAlE W e AaTe ey g i
AT

(A) FreEn, Fadfta

(B) wrsnm, Yerrd

(C) Fomm, s

(D) =rem, Jhms

130, “toea 3l fiwm gl T ame
(A) ™
(B) fes e
(C) =i A=
(D) oo e

131, FrafEfmofin el wreys G- mma w=fEer
(A) maw (B) =ife
(C) wrefmm (D) AP 43t =

132. o5 effram céost S Reowreg = wf sl o
wiTe S T Tn—

(A) =m=iifiG:

(B) =i 2 wyrsfifn
(C) Temaa

(D) IR et
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133, ﬂuchlmﬂ:ﬁmlmnrmﬁmmumhl education were
enlisted for the first time fp— =
(A) 1976, Thilisi conference
(B) 1977, Thilisi conference
(C) 1977, Belgrade international warkshop

(D) 1972, United Nations Conference on the Human
Environment, Stockhoim

134, Which of the following animal is the state animal of
West Benpal?

(A) Fishing Ca

(B) Squirrel

(C) Royal Bengal Tiger

(D} Ganges River Dalphin

135. Which one of the followings s the correct SequeEnce
of energy Mow?
(A} Solar energy—»Primary producer—»Carnivores
—+Decomposer
(B) Solar energy—»Primary producer—»Camivores
~+Herbivores
(C) Solar energy—*Herbivores—*Primary producer
—+Decomposer
(D} Solar encrgy—*Primary producer—»Herbivores
—»Carnivores

136.. Which one of the following is not a part of

pholochemical smog?
(A) Ca {B) PAN
(Cy Oy (D) NO,

137. The Chipko movement is associated with—
{A) labour movement in India
(B) trees and forest protecting movement in India
(C)} mineral resource conservation movement in India
(D} peasant movement in India

138. The vector that acts as the carrier as well as host of
causative erganisms of discases belongs to which of the
following animal category?
{A) Birds
{C) Arthropods

(B} Reptiles
(D) Molluscs

Bengali Version
133, “fffret P et v witegs —
(A) 1976, Tafid® wrem
(B) 1977, i wrwm=
(C) 1977, (=S wrwsifes e

(D) 1972, TB+Ede crem TwomaY =x BEus
GETlEsior, e

134, Frafifes com el o oo end e
(A) wmcai (R w90)
(B) =
() Ty e i
(D) ST aow

135, FefEfreokm o=l «fseeroe =B ame
(A) Fiefio— sifire Sesima—surmnil— o
By ez — ensifies Sesies —paemt—spetrerd
(C) FresfE—grrard— sefin Fedms-—s R
(B) = aufis Fess—ygamari —saeam

136, frsfifizofim emft wwes semfs o
{photochemical smog) = 70 ¢

(A) Ca (B) PAN
(€) 0y (D) NOs
137, BT =wee 50 0 T e—

(A) wTEe wfi W
(B) =mEE 7% € WA A5l WrwEs
(C) =rarea wiFe Wovp AL Wi
(D) SHTES T8 TR

138, =3, W cenem =rfan W s e oo fEee

e w0, vl Frey oo Frston enfin wwder
(A) =8t (B) e
(e whi- (B) T
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PART—E
Environmenial Studies

English Version

139, InEVS class, a teacher takes the learners to the 200
to Introduce them to caged wild animals, This activity
comes under the purview of—

{A) Assignment

{B) Experiment

(C) Project work

(D) Field visit

l-iﬂ.. In which stage of environmental study based active
rescarch, is hypothesis formulated?

{A) In problem identification stage

(B) Affer the analysis of the probable causes

(C) In research methodology stage '

(D) In sssessment stage

141. Which one of the flollowing ohjects are
non-biodegradable wasies?
(A} Vegetable peels, Leaves, Petals
(B} Animal debris, Branches of trees, Rotten fruits
(C) Plastic bottles, Computer pans, Batteries
(D) Paper waste, Food waste, Compost

14%. Which one of the following gases is a natural
greenhouse gas?
(A} Oxypen
(B} Carbon monoxide
(C} Nitrous oxide
) (D) Nitrogen

143, There are 38 different groups of students in n class,
Each group consists of an equal number of students.
Six groups are asked to carry out projects on biomass
energy, nine groups are asked to carry oul projects on
geothermal energy and four groups are asked to carry
out projects on wind energy. Rest of the studenis are asked
to carry out projects on fossil fuel. While asked to express
the distribution of groups of students working on
renewahle energy through a ple-chart, the correct way of
their representation will be —

DEDG

{B) () (D)
R = Renewable energy
O = Others

Bengali Version

139. EVS e, awem s/ Rien Pl dnng,
=i comre i e o o) & e gy
e wrdaf T Refke w

(A) wrfra 204 (Assignment)

(B) #fr (Experiment)

(C) =awe =i (Project work)

(D) cwx offwa (Field visit)

140, = HeeEE 7EE TR G O W,

sfire =0 e
{A) = e v
(B) v wrarolF Rerm e
(C) e =refE Wi

(D) YrORF WA

141, Frfaferofn e oo g Smg-ufiome
(A) wmiEE Cur, «fret, <l
(B) =i CTORTTe, 06 TH, o5 ¥
(G mFEm ares, ST=IE0TEa TR, TR
(D) =NWErETE w6, WA T, It

142, fRufife areofin g om Al ool el B
el

(A) =fEmes

(B) =rds T

(C) =fEp™ wwEs

(D) =

143, a=f s frmiliom 381 Fow v wry) ofell
A A Femd o ofie ) ol wors o e B
ST T W @ e, v gy ofe S
SR I AT Oy a0 v weme A i B
B =W T T s | A Sl Freg g o
ST FTW T T T ey «fy fy =i
Pl wafms fe-frm s wen e e w0

w1 o v A e ae—
i
\.0_/
(A) (B (C) {2)]
R = o iremmey =fe
O = ==

[34]
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PART—E
Environmenial Studies

English Version

144, Which one of the following fertilizers contain
nltrogen fixing cyanobacteria (Anabaena)?

{A) Azolla biofertilizer

(B) Dung manure

(C) DAP (Di-ammonium Phosphate) fenilizer

(D) NPK (Nitrogen-Phosphorus-Potassium) fertilizer

145. Which one of the following International Treaties
had been designed In 1987 to protect the Ozone layer?
(A) Kyoto Protocol
(B) Copenhagen Accord
(C) Paris Accord
(D} Montreal Protocol

146. Which one of the followings Is an ecofriendly
practice?
{A) Not using a cloth bag
(B} Using sound crackers
(C) Unnecessarily switching on lights and fans
(D) Going to school on foot or bicycling instead of
using a private motor car

147. Which of the following is a bicindicator of air
pollution?
(&) Water hyacinth
{B) Parthenium weed
{(C) Karabi flower Plant {(Cleander or Nerium Plant)
(D} Lichen

148. Which of the following tropical cyclone was a Super
Cyclone?

{A) Yaas, May 26, 2021

{B) Touktae, May 16-18, 2021

(C) Amphan, May 1B-19, 2020

(D) Nisarga, June 3, 2020

149, Internntionnl Environmental Edocation

Programme (IEEF) has been lnunched by—
(A) UND (B) UNESCO
(C) UNICEF (D) ULO

150, *Kuno Mationg] Park® has become famous recently
because of —
{A) reintroduction of the 'Dodo bird” from Evrope
{B) reintroduction of the ‘Cheeta’ from Central Asia
(C) reintroduction of the *Cheeta’ from Africa
(D) reintroduction of the ‘Lion’ from Africa

Bengali Version
144. Fufifte amofim sog el st fifts®
wreTCrRTes e (e o wfie e
(A) =rrEmm e
{’B] CHEE Ha
(G) DAP (SfR-=mm=imm wres) 7
(D) NPK (=iSims=-wrram-«hnm) wm

145, Fsfofis wigdifes pfeofm ol 1987 = e
T T T v e wnie

(A) Fomd o=

(B) CRILATELR =Ias

(C) e =mes

(D) wficm cembrm

146, Fufafzufm orl «ftrermg e
(A) TTET T TR W
(B = s e
(C) "SEmmu W o i S T
(D) e cafbe +nfis Twem 1 = =i ofeh 1 it
wien Remere mrem

147. Sree owl Ayt Fmdee e

(A) wgi=m
(B) i =g

(C) &= o e
(D) HiEE=

148, Frafafie oom Svmadin witmEl 5o g fime
(A) HUM, & 26, 2021 :
(B) wTs, (0 16-18, 2021
(C) ===, ¢1 18-19, 2020
(D) Bl = 3, 2020

149, THTERFN SIS Sy o (IEEF) ¥

FETE— '
{A) UND
(€) UNICEF

(B) UNESCO
(D) ULO

150, o9 wrae &g g e T e R wome—
(&) BeTRIM (VT CEIS AT e W
(B) = & cure foer-a sieTeE W
(C) e oo fer-a i W
(D) wafir oo Frey-am Ao W
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PART—B
Language-I—Bengali

49, Frww =l ‘owfd sre=m w2’ (Emergent Literacy
Stage -4 ¥ 35 T AP

(A) ¥8-0% =f wyg

(B) e o wwre v

(C) Tafew faforom am W

(D) %

50. Foon won angw e fivg S wfime wits, 200 wit
o et wfbs e
(A) =g o Fracefee «ufd wpmd wa0s o
(B) wfsfi i<z wry oere o2
(C) ool FaTe = SR I T TS ure
(D) wrEsmm s B og oy e wm

51. ¥R fiema cora—
o o Tt wat, o o o S
o Predioen efefinm wermshn, oy B
TefaTe vymaf o fire Fewemiers Fud s e
(A) 7+l
(B) =zl «wfa
(8) P «sfa
(D) =arerd wwfs

52, =me Eon v o e/ e Pt cifere o

FRAETER A (A0S 51 s T o e e st
R

(A) = Twrere 2w

(B) a=fh =z Toaffee =
(C) wfefimed (MCQ) =
(B) Teiie oy

53, wfimromir o Fesffe ofin 5= ge-ait
sty wn w1 e e Potof o — v o
weorrd wfd e oo, ol wom o e ften gw wnfiee
o 7w, whm v il s werre o ey e
% wimrem T & p

(A) i ffar =@ mem
(B) Free v whrafis =0
(C) =rm «irem v o =9

(D) FreEore mog oo Rfer ez e sareTe g
e

54. w2 cwra “srem cofireet 'y (Centrality of Language)
ud &

(&) = =g wm e (Subject) (e coiE codity
¥ FTE
(B} ;;E i = e (Subject) Frem e oo

(C) T 581 (Content Studies) Srofirem o
(D) A Frm Fme = ae =wien w0 e
fite 0wy meTm Somem Y

55, T e T BORCTE G (A WIW e
() T =11 Freniliors geérencs B
(B) SRR A TS
(C) e T oIS WIS ST R o[ ey

et W
(D) e Fewilirn wrf s 0

56, Famfefis e cwrn =RawwET doms R oAy

(A) crmBe i W Fwifs ouman
(B) s s fifrem stiterm 9 oamen
(C) S0 T ST 0N 7 #AE

(D) s i ot

57, efefirn Fwra oo gt Fret crewma e e
(A) srgsTa Fraw o JE crHm]
(B) wteléy SpiaiHes ern GregrE =
(C) wre=ram P =% w75 =iy
(D) wirsmmn et el e

58, i comveen Fomres, el v e ey et~
=0 (Reading disorder) #@m =29 oirs Relife @

AN T AR = A
(A) =P (B) femrmmergm
(G) TeomwiEm (D) =

59, FAEIILR WATETE eRfRSTE waum e T
T W govm fmm o oremeR— g R oes
fireer cliverm T T ¢

(A) wporih
(C) e

(B) wpmw=
(D) =i

60. e wew Fefifie Soegofm ma @ Soeol
AU A Ty

(A) =rersrara 37

(B) weme Swrmre wers fdg

(C) Frerlirs free v wiow g I

() 13 (Text)-47 T9 wmenflcs T =oemm T
e mer =
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